GRAPHING/SLODE REVIEW vame

Complete the x-y table. Then graph the equation. (You may have to solve for y first.)

F
1) y = %x-3 3}, 2) y =x-1 Ay
3
X Y 2 X Y
—3-2-1 1 2 3x - >
|—1 —3-2-1 | 1 3zx
| 5 |
| —2
| 3 |
oy 3
oy
3) y =3 4)y = —2x
A
X Y 1y X Y Y
1—3—2—11 1 2 3x 3-2-1 ] 1 2 3x
|—2 :—2
|_3 —3
Iy oy
5 + 2 = 2x 6 + 3 = 2x
)y iy )y Ay
. - 3-2-1 3x
X y 3-2 1_1 1 2 3 x » Y |_1
|_2 |—2
|_3 —3
| ¥ | Y
Find the slope of the following.
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Find the slope and y-intercept of the equation.

1) y=-3x+9 m= b= 12) y=4x—7 m= b=
1

13) y=:x-2 m= b= 14) y=—-x+6 m= b

15) y—-35=-2x m= b= 16) y+5=zx m = b=

Find the slope and y-intercept and then graph the following.
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2) y + 6 = 2x m= b= 22)y—4=%x m =
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